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QUESTION 1

Given the code sample:

public interface GenericMessenger (
public void handleMessage(Message msg) { }

And: And:

TDefault
public class MsgHandler implements GenericMessenger (
public void handleMessage(Message msg) { }

)

@ Alternative
public class SmsHandler implements GenericMessenger (
public void handleMessage(Message msg) {

)

And the next fragment from beans.xml:

<alternatives>
<class>com.acme.SmsHandler< /class>

</ alternatives>
And this injection point:

@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?
A. SmsHandler
B. MsgHandler
C. None of the above. An exception would be thrown due to ambiguous bean references.
D. GenericMessenger

Correct Answer: D

QUESTION 2

Which class do you use to handle an incoming JSON Message as a stream?
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A. JsonReader

B. JsonObjectBuilder
C. JsonParser

D. JsonObject
Correct Answer: A

Reference: https://docs.oracle.com/javaee/7/tutorial/jsonp002.htm

QUESTION 3

You have a set up min-max planning at the subinventory level with the following to source item AS12312 for
Organization: M1.:

Source Type: Organization Organization: M1
What type of supply request will be generated?
A. Movement request

B. Internal Requisition

C. Purchase Requisition

D. None,; this is an invalid setup

E. Intraorganization transfer order

Correct Answer: E

QUESTION 4

Which statement is true about Java methods that are exposed as Web Service operations by using JAXWS API?

A. The @WebResult annotation must exist.

B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Correct Answer: D

QUESTION 5
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Given the code fragment:

Account.java:

public class Acount {
private int accld = 12345;
[/ [ getters and setters

Customer.java:

public class Customer {
private Account acc; / /line 1
public void setAcc{Account acc) // line 2
{ this.acc=acc; }
public Account getAcc() // line 3
{ return acc; }

And
index xhtmi:

<h:outputText value = "The Id is #(customer.acc.accld)"/ >

Which two steps, when performed independently, enable the index.xhtml page to print the following text: The Id is
123457 (Choose two.)

A. Replace line 2 with: @Inject public void setAcc(Account acc)

o]

. Replace line 3 with: @Inject public Account getAcc()

C. Replace line 1 with: @Inject private Account acc;

O

. Replace line 3 with: public @Inject Account getAcc()

m

. Replace line 1 with: private @Inject Account acc;

T

. Replace line 2 with: public void setAcc(@Inject Account acc)

Correct Answer: DF

QUESTION 6

A third-party service equipment is used for various purposes in a manufacturing facility and needs to be overhauled
once a year. This equipment is charged based on its consumption without a project dependency.

At this point, it should be transferred out of the vendor\\'s warehouse for maintenance and then returned back in the
future depending upon the requirement.
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The material stock transfer should happen with an offline approval and with an account alias as a logical reference.
What is the ideal way to handle this process?

A. Transfer Order

B. Requisitions

C. Move Request

D. Miscellaneous Transaction

E. Subinventory Transfer

Correct Answer: D

QUESTION 7

You want to allow one set of roles to POST to a resource and another set of roles to GET it.
Which two configuration options should you use? (Choose two.)

A. two separate @HttpMethodConstraints annotations and sets of roles

B. a single @HttpMethodContstraint annotation and a map of method to roles

C. two with different in the deployment descriptor

D. a single with two with different in the deployment descriptor

Correct Answer: BD

QUESTION 8

Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from
current manufacturing will be added to current inventory by the Open Transactions Interface. The immediate
requirement is to go live with Inventory and Order Management.

Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process

B. Average Cost Update

C. Backflush Subinventory Transfer

D. Miscellaneous Issues and Receipts

E. All Internal Transactions

Correct Answer: AC

Latest 120-900 Dumps | 1Z20-900 Practice Test | 1Z20-900 Exam Questions 5/6


https://www.passapply.com/1z0-900.html
https://www.passapply.com/1z0-900.html
https://www.passapply.com/1z0-900.html

VCE & PDF https://www.passapply.com/1z0-900.html
2024 Latest passapply 120-900 PDF and VCE dumps Download
PassApply.com

QUESTION 9

Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being
executed by a ManagedExecutorService?

A. the Runnable Interface

B. the ManagedExecutorTask interface
C. the TaskEventListener interface

D. the ManagedTaskListener interface
Correct Answer: D

Reference: https://github.com/javaee/concurrency-ee-spec/blob/master/api/src/main/java/javax/enterprise/
concurrent/ManagedExecutorService.java

QUESTION 10

Which two statements are true in regard to using the Enterprise Structures Configuration? (Choose two.)

A. It recommends job and position structures.

B. It allows you to create your Enterprise, Business Units, and Warehouses in a single step.

C. You cannot modify the recommendation from the tool. You must do it after you perform the initial configuration.
D. The guided interview-based process helps you set up the enterprise with best practices.

E. It creates the chart of accounts.

Correct Answer: BD

QUESTION 11
Which code snippet indicates that the page you are designing is capable of handling errors?
A.

B.
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